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QUESTION 1

Which command option should be used to resume an interrupted onbar restore?
A. -RETRY

B. -RESTART

C. -REINTHIALZE

D. -BEGIN_AGAIN

Correct Answer: B

QUESTION 2

Which of the following can be used to create and drop logical logs?
A. onlog

B. ondblog

C. onspaces

D. onparams

Correct Answer: D

QUESTION 3

What does the dbschema -ss option explicitly show besides lock mode, fragmentation strategy, and dbspace name?
A. pagesize

B. extent size

C. creation date

D. partition parthum

Correct Answer: B

QUESTION 4
What is the only isolation level available on an unlogged database?
A. Dirty Read

B. Cursor Stability

Latest C2090-558 Dumps | C2090-558 PDF Dumps | C2090-558 VCE Dumps 2/3


https://www.pass4itsure.com/c2090-558.html
https://www.pass4itsure.com/c2090-558.html
https://www.pass4itsure.com/c2090-558.html

. VCE & PDF https://www.pass4itsure.com/c2090-558.html
E 2024 Latest passditsure C2090-558 PDF and VCE dumps Download

PassditSure.com

C. Committed Read
D. Repeatable Read

Correct Answer: A

QUESTION 5

Which technology can be used to execute Data Definition Language (DDL) command across multiple instances?
A. Flexible Grid

B. Enterprise Replication

C. High Availability Cluster

D. High Availability Data Replication

Correct Answer: A
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